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Part l. Lecture Multiple Choice (90 points total)

A.
B.

C.
® D

E.

& A,
B.
C.

I=V/R
I=V/2R

[=-V/2R
I =-V/R

VL =0
V.= VLmax/ 2
Vi = Vimax

I=0A
1=22x10"A
I=31x10"A
I=56x10°A
I=22x10%A
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e = e *M
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A. PointA.
B, Point B.

“B. F=0
C. k<O

|
A 4
S

5 B=03T
i i g=-1.6x10"19C
ET, Not enough information. m = 9.1x10-3! kg
£
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last first

- A. W=0.094 A-m’, in the -z direction z ’ )
B. u=0.094 A-m’ in the +z direction Y
p=9.42 A-m’, in the —z direction
9 @u =9.42 A-m’, in the +z direction X =
E. u=94.2 A-m?, in the +z direction —;)

e=0.0V
@ B. =045V
C. ¢=090V ¥ ’ T R Tl
D. €=0.9kV g : 6wy
L = &n v e T TP ey @
E. £€=0.9mV . -
2 . » *v:‘;;%;

" 021m

D. 0.25m
E. The magnetic field is not zero anywhere inside the hollow wire.
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last Sirst

ariu Ny

Ay R2= Ry
(B.JR,=2R;
C. R2=4R1

D. R;=Ry/4
E. R2= R1/2

A .
B. 2.64V I,
C. 364V
D
E

436V
5.36V

A.. N; =50 and N, =10.

{B./N.=100and N, = 4,000 —
= = [——
C. N;=200and N, = 6,000. e - R
D. Nj=2,000 and N, = 50. —
—1
E. Ni=2,000and N, = 20,000.
V\\
N1 N, iron core
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. I=06A
B. I=09A

E. I=6.0A

Increases with time

i Decreases with time

Romainc ennctant with time
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Component values:
&=200 sin ot V
L=5mH
C=10pF
R=130%

A. OHz

B.ag 3.55 X 10” Hz.
C.J712 Hz

D. 4.47 x 10° Hz.
E. 3.18x 10° Hz

A, Q3=18.3puC

B. - Qs=21.4 uC
@ Q;=13.5puC
D. Qs=30.8uC
E. Qs=33.7puC

9V |

.
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The next three questions refer to the situation described below.

cathode anode
Electrons are accelerated from rest, at the cathode, by
an electric potential of +11 kV, before striking the D

anode 10 cm away. 10 cm X-rays

/
electron § ——e [T
\

v

target
A. v=9.1x10" m/s -
B. v=7.3x10°m/s ———
C.v=2.3x10"m/s : +11 kV

W=6.2x10" m/s
v =4.1x10° m/s

A. o =0.49 pC/m’
B. ¥ =0.97pC/m’

o =1.24 uC/m2
D. ¢ =1.56 pC/m’
E. ¢ =1.95puC/m’

N

A. to the right on the right side of the tube, and to the left on the left side of the tube.
@to the left on the right side of the tube, and to the right on the left side of the tube.

{ C. )the field will be zero everywhere to the left of the cathode and to the right of the anode.
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